Bid #432-11157 - Tapping Sleeves and Valves

Start Date Jan 28, 2013 8:24:39 AM EST Awarded Date Not Yet Awarded

432-1115701-01 4" X 4" Tapping	1	1		I		
Supplier	Unit Pri	ce Oty/Unit	Total Price	Attch.	Docs	
Ferguson Enterprises Inc.	First Offer - \$426.6	0 1 / each	\$426.60		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: Duc Manufacturer: AFC					
A&B PIPE & SUPPLY, INC.	First Offer - \$441.8	0 1 / each	\$441.80		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: DI Manufacturer: MUELLER			: DI		
HD Supply Waterworks, Ltd.	First Offer - \$444.0	0 1 / each	\$444.00		Υ	
Product Code:		Supplier Produc	t Code:			
Agency Notes:		Supplier Notes: Manufacturer: N	Cast or Ductile I ron Iueller	Offered	: Cast	
msc waterworks	First Offer - \$460.0	0 1 / each	\$460.00		Υ	
Product Code:		Supplier Produc	t Code:			
Agency Notes:	Supplier Notes: Cast or Ductile Iron Offered: 615 Manufacturer: mueller			: 615		
Corcel Corp.	First Offer - \$464.0	0 1 / each	\$464.00		Υ	
Product Code:		Supplier Produc	Supplier Product Code:			
Agency Notes:		Supplier Notes: DUCTILE IRON Manufacturer: M	Cast or Ductile Iron MUELLER	Offered	:	

432-1115701-02 6" X 4" Tapping S	Sleeve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$511.83	5 / each	\$2,559.15		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: Ducti Manufacturer: AFC				
A&B PIPE & SUPPLY, INC.	First Offer - \$520.20	5 / each	\$2,601.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: DI Manufacturer: MUELLER				
msc waterworks	First Offer - \$526.00	5 / each	\$2,630.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: h615 Manufacturer: mueller				
HD Supply Waterworks, Ltd.	First Offer - \$528.00	5 / each	\$2,640.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: Cast Manufacturer: Mueller			Cast	
Corcel Corp.	First Offer - \$552.00	5 / each	\$2,760.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: C DUCTILE IRON	Code: ast or Ductile Iron	Offered	:

Manufacturer: MUELLER

432-1115701-03 6" X 6" Tapping S	Sleeve					
Supplier	Uı	nit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer -	\$511.83	40 / each	\$20,473.20		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: Duc Manufacturer: AFC			
A&B PIPE & SUPPLY, INC.	First Offer -	\$520.20	40 / each	\$20,808.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: DI Manufacturer: MUELLER			: DI
msc waterworks	First Offer -	\$526.00	40 / each	\$21,040.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: h615 Manufacturer: mueller			
HD Supply Waterworks, Ltd.	First Offer -	\$528.00	40 / each	\$21,120.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: Cast Manufacturer: Mueller			: Cast
Corcel Corp.	First Offer -	\$552.00	40 / each	\$22,080.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Cast or Ductile I ron Offered: DUCTILE IRON Manufacturer: MUELLER			:	

432-1115701-04 8" X 4" Tapping S	Sleeve					
Supplier	Unit F	Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$62	8.60	2 / each	\$1,257.20		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: C Manufacturer: AF	ast or Ductile Iron	Offered	Ductile
A&B PIPE & SUPPLY, INC.	First Offer - \$63	9.00	2 / each	\$1,278.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: DI Manufacturer: MUELLER			: DI
msc waterworks	First Offer - \$64	5.00	2 / each	\$1,290.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: h615 Manufacturer: mueller			
HD Supply Waterworks, Ltd.	First Offer - \$64	9.00	2 / each	\$1,298.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: Cast Manufacturer: Mueller			Cast
Corcel Corp.	First Offer - \$67	8.00	2 / each	\$1,356.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Cast or Ductile I ron Offered: DUCTILE IRON Manufacturer: MUELLER				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$628.60	20 / each	\$12,572.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: C Manufacturer: AF	ast or Ductile Iron	Offered	: Ductile
A&B PIPE & SUPPLY, INC.	First Offer - \$639.00	20 / each	\$12,780.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: DI Manufacturer: MUELLER			: DI	
msc waterworks	First Offer - \$645.00	20 / each	\$12,900.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: C Manufacturer: mu	ast or Ductile Iron	Offered	: h615
HD Supply Waterworks, Ltd.	First Offer - \$649.00	20 / each	\$12,980.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: C Manufacturer: Mu	ast or Ductile Iron	Offered	: Cast
Corcel Corp.	First Offer - \$678.00	20 / each	\$13,560.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: C DUCTILE IRON Manufacturer: MU	ast or Ductile Iron	Offered	:

432-1115701-06 8" X 8" Tapping S	Sleeve					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer	- \$680.02	5 / each	\$3,400.10		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: O Manufacturer: AF	ast or Ductile Iron	Offered	: Ductile
A&B PIPE & SUPPLY, INC.	First Offer	- \$691.60	5 / each	\$3,458.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: DI Manufacturer: MUELLER			: DI
HD Supply Waterworks, Ltd.	First Offer	- \$703.00	5 / each	\$3,515.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: Cast Manufacturer: Mueller			
msc waterworks	First Offer	- \$705.00	5 / each	\$3,525.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: h619 Manufacturer: mueller			: h615
Corcel Corp.	First Offer	- \$733.00	5 / each	\$3,665.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Cast or Ductile I ron Offered: DUCTILE IRON Manufacturer: MUELLER				

432-1115701-07 10" X 4" Tapping Sleeve							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Ferguson Enterprises Inc.	First Offer - \$1,243.28	1 / each	\$1,243.28		Υ		

p. 3

Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: Ductile Manufacturer: AFC			
A&B PIPE & SUPPLY, INC.	First Offer - \$1,276.00	1 / each	\$1,276.00	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: Of Manufacturer: MI	Cast or Ductile Iron Offe	ered: DI
HD Supply Waterworks, Ltd.	First Offer - \$1,284.00	1 / each	\$1,284.00	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: 0 Manufacturer: Mo	Cast or Ductile Iron Offe	ered: Cast
msc waterworks	First Offer - \$1,311.50	1 / each	\$1,311.50	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes: 0 Manufacturer: m	Cast or Ductile Iron Offe	ered: h615
Corcel Corp.	First Offer - \$1,340.00	1 / each	\$1,340.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes: O DUCTILE IRON Manufacturer: MI	Cast or Ductile Iron Offe	ered:

432-1115701-08 10" X 6" Tapping	Sleeve					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer -	\$1,243.28	1 / each	\$1,243.28		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Cast or Ductile I ron Offered: Ductile Manufacturer: AFC			
A&B PIPE & SUPPLY, INC.	First Offer -	\$1,276.00	1 / each	\$1,276.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: DI Manufacturer: MUELLER			d: DI
HD Supply Waterworks, Ltd.	First Offer -	\$1,284.00	1 / each	\$1,284.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: Cast Manufacturer: Mueller			
msc waterworks	First Offer -	\$1,311.50	1 / each	\$1,311.50		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: h6 Manufacturer: mueller			
Corcel Corp.	First Offer -	\$1,340.00	1 / each	\$1,340.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: DUCTILE IRON Manufacturer: MUELLER			d:

432-1115701-09 10" X 8" Tapping Sleeve							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Ferguson Enterprises Inc.	First Offer - \$1,320.72	1 / each	\$1,320.72		Υ		
Product Code:		Supplier Product	Code:				

		Supplier Notes: Cast or Ductile I ron Offered: Ductile Manufacturer: AFC			
A&B PIPE & SUPPLY, INC.	First Offer - \$1,356.00	1 / each	\$1,356.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: DI Manufacturer: MUELLER			
HD Supply Waterworks, Ltd.	First Offer - \$1,365.00	1 / each	\$1,365.00	Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes: (Manufacturer: M	Cast or Ductile I ron Offe	ered : Cast	
msc waterworks	First Offer - \$1,393.50	1 / each	\$1,393.50	Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes: (Manufacturer: m	Cast or Ductile I ron Offe	ered: h615	
Corcel Corp.	First Offer - \$1,424.00	1 / each	\$1,424.00	Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes: O DUCTILE IRON Manufacturer: M	Cast or Ductile Iron Off	ered:	

432-1115701-10 10" X 10" Tappir	ng Sleeve					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer -	\$1,346.73	1 / each	\$1,346.73		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: O Ductile Manufacturer: AF	Cast or Ductile Iro	n Offere	d:
A&B PIPE & SUPPLY, INC.	First Offer -	\$1,382.40	1 / each	\$1,382.40		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: 0 Manufacturer: M	Cast or Ductile I ro	n Offere	d: DI
HD Supply Waterworks, Ltd.	First Offer -	\$1,390.00	1 / each	\$1,390.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: (Manufacturer: M	Cast or Ductile I ro	n Offere	d : Cast
msc waterworks	First Offer -	\$1,428.00	1 / each	\$1,428.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: 0 Manufacturer: m	Cast or Ductile I ro	n Offere	d : h615
Corcel Corp.	First Offer -	\$1,452.00	1 / each	\$1,452.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: (DUCTILE IRON Manufacturer: M	Cast or Ductile Iro	n Offere	d:

432-1115701-11 12" X 4" Tapping Sleeve									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ferguson Enterprises Inc.	First Offer - \$1,243.28	1 / each	\$1,243.28		Υ				
Product Code: Agency Notes:		Supplier Product Supplier Notes: (Code: Cast or Ductile I ro	n Offere	d:				

Ductile Manufacturer: AFC				FC	
A&B PIPE & SUPPLY, INC.	First Offer -	\$1,276.00	1 / each	\$1,276.00	Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: (Manufacturer: M	Cast or Ductile I ron Offer	red: DI
HD Supply Waterworks, Ltd.	First Offer -	\$1,284.00	1 / each	\$1,284.00	Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: (Manufacturer: M	Cast or Ductile Iron Offer	red: Cast
msc waterworks	First Offer -	\$1,311.50	1 / each	\$1,311.50	Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: (Manufacturer: m	Cast or Ductile Iron Offer	red: h615
Corcel Corp.	First Offer -	\$1,340.00	1 / each	\$1,340.00	Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: O DUCTILE IRON Manufacturer: M	Cast or Ductile Iron Offer	red:

432-1115701-12 12" X 6" Tapping	Sleeve					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer -	\$1,243.28	1 / each	\$1,243.28		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: O Ductile Manufacturer: AR	Cast or Ductile Iro	n Offere	d:
A&B PIPE & SUPPLY, INC.	First Offer -	\$1,276.00	1 / each	\$1,276.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: 0 Manufacturer: M	Cast or Ductile I ro	n Offere	d: DI
HD Supply Waterworks, Ltd.	First Offer -	\$1,284.00	1 / each	\$1,284.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: (Manufacturer: M	Cast or Ductile I ro	n Offere	d: Cast
msc waterworks	First Offer -	\$1,311.50	1 / each	\$1,311.50		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: 0 Manufacturer: m	Cast or Ductile I ro	n Offere	d : h615
Corcel Corp.	First Offer -	\$1,340.00	1 / each	\$1,340.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: O DUCTILE IRON Manufacturer: M	Cast or Ductile Iro	n Offere	d:

432-1115701-13 12" X 8" Tapping Sleeve									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ferguson Enterprises Inc.	First Offer -	\$1,320.72	1 / each	\$1,320.72		Υ			
Product Code:			Supplier Product	Code:					
Agency Notes:			Supplier Notes: (Cast or Ductile I ro	n Offere	d:			
			Ductile						

		Manufacturer: Al	FC .	
A&B PIPE & SUPPLY, INC.	First Offer - \$1,355.50	1 / each	\$1,355.50	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: (Manufacturer: M	Cast or Ductile I ron Off	ered: DI
HD Supply Waterworks, Ltd.	First Offer - \$1,364.00	1 / each	\$1,364.00	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: (Manufacturer: M	Cast or Ductile I ron Off	ered: Cast
msc waterworks	First Offer - \$1,393.50	1 / each	\$1,393.50	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: (Manufacturer: m	Cast or Ductile I ron Off	ered: h615
Corcel Corp.	First Offer - \$1,423.00	1 / each	\$1,423.00	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: (DUCTILE IRON Manufacturer: M	Cast or Ductile Iron Off	ered:

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer -		1 / each	\$1,528.23		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes: (Ductile Manufacturer: AF	Cast or Ductile I ro	n Offere	d:
A&B PIPE & SUPPLY, INC.	First Offer -	\$1,568.50	1 / each	\$1,568.50		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: (Manufacturer: M	Cast or Ductile I ro	n Offere	d: DI
HD Supply Waterworks, Ltd.	First Offer -	\$1,578.00	1 / each	\$1,578.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: (Manufacturer: M	Cast or Ductile I ro	n Offere	d : Cast
msc waterworks	First Offer -	\$1,596.00	1 / each	\$1,596.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: (Manufacturer: m	Cast or Ductile I ro	n Offere	d : h615
Corcel Corp.	First Offer -	\$1,647.00	1 / each	\$1,647.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: O DUCTILE IRON Manufacturer: MI	Cast or Ductile Iro	n Offere	d:

432-1115701-15 12" X 12" Tapping Sleeve									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ferguson Enterprises Inc.	First Offer -	\$1,570.58	1 / each	\$1,570.58		Υ			
Product Code: Agency Notes:			Supplier Product Supplier Notes: (Ductile Manufacturer: Al	Cast or Ductile Iro	n Offere	d:			

A&B PIPE & SUPPLY, INC.	First Offer -	\$1,612.40	1 / each	\$1,612.40	Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: (Manufacturer: M	Cast or Ductile Iron Offer	ed: DI
HD Supply Waterworks, Ltd.	First Offer -	\$1,622.00	1 / each	\$1,622.00	Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: (Manufacturer: M	Cast or Ductile Iron Offer	red: Cast
msc waterworks_	First Offer -	\$1,640.00	1 / each	\$1,640.00	Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: (Manufacturer: m	Cast or Ductile Iron Offer	e d : h615
Corcel Corp.	First Offer -	\$1,693.00	1 / each	\$1,693.00	Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: (DUCTILE IRON Manufacturer: M	Cast or Ductile Iron Offer	ed:

432-1115701-16 4" X 4" Tapping \	Valve					
Supplier	Unit	Price	Qty/Unit	Total Price	Attch.	Docs
A&B PIPE & SUPPLY, INC.	First Offer - \$4	01.00	10 / each	\$4,010.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: C Manufacturer: ML	ast or Ductile Iron	Offered	: DI
HD Supply Waterworks, Ltd.	First Offer - \$4	07.00	10 / each	\$4,070.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: C Manufacturer: Mu	ast or Ductile Iron	Offered	: Cast
msc waterworks	First Offer - \$4	10.00	10 / each	\$4,100.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: C t236019 Manufacturer: mu	ast or Ductile Iron	Offered	:
Ferguson Enterprises Inc.	First Offer - \$4	13.28	10 / each	\$4,132.80		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: C Manufacturer: AF	ast or Ductile Iron	Offered	: Ductile
Corcel Corp.	First Offer - \$4	25.00	10 / each	\$4,250.00		Υ
Product Code: Agency Notes:			IRON	Code: ast or Ductile I ron Pipe Valve & Hydrar		

432-1115701-17 6" X 6" Tapping Valve										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
A&B PIPE & SUPPLY, INC.	First Offer - \$566.40	62 / each	\$35,116.80		Υ					
Product Code: Agency Notes:		Supplier Product Supplier Notes: C Manufacturer: MU	ast or Ductile Iron	Offered	: DI					
HD Supply Waterworks, Ltd.	First Offer - \$575.00	62 / each	\$35,650.00		Υ					

p. 8

Product Code: Agency Notes:		Supplier Product Supplier Notes: C Manufacturer: Mu	ast or Ductile Iron Offe	ered : Cast
msc waterworks	First Offer - \$575.63	62 / each	\$35,689.06	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: C t236019 Manufacturer: mu	ast or Ductile Iron Offe	ered:
Ferguson Enterprises Inc.	First Offer - \$583.52	62 / each	\$36,178.24	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: C Manufacturer: AF	ast or Ductile Iron Offe	ered: Ductile
Corcel Corp.	First Offer - \$601.00	62 / each	\$37,262.00	Υ
Product Code: Agency Notes:		IRÓN	Code: ast or Ductile Iron Offe Pipe Valve & Hydrant Di	

432-1115701-18 8" X 8" Tapping \	/alve					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&B PIPE & SUPPLY, INC.	First Offer	- \$840.75	7 / each	\$5,885.25		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: DI Manufacturer: MUELLER			
HD Supply Waterworks, Ltd.	First Offer	- \$854.00	7 / each	\$5,978.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: C Manufacturer: Mu	ast or Ductile Iron	Offered	: Cast
msc waterworks	First Offer	- \$854.40	7 / each	\$5,980.80		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: C t236019 Manufacturer: mu	ast or Ductile Iron	Offered	:
Ferguson Enterprises Inc.	First Offer	- \$866.88	7 / each	\$6,068.16		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: C Manufacturer: AF	ast or Ductile Iron	Offered	: Ductile
Corcel Corp.	First Offer	- \$892.00	7 / each	\$6,244.00		Υ
Product Code: Agency Notes:			IRÓN	Code: ast or Ductile I ron i Pipe Valve & Hydrar		

432-1115701-19 10" X 10" Tapping Valve							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
A&B PIPE & SUPPLY, INC.	First Offer -	\$1,280.00	2 / each	\$2,560.00		Υ	
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: D Manufacturer: MUELLER						d: DI	
HD Supply Waterworks, Ltd.	First Offer -	\$1,288.00	2 / each	\$2,576.00		Υ	
Product Code:			Supplier Product	Code:			

Agency Notes:		Supplier Notes: 0 Manufacturer: M	Cast or Ductile I ron Off ueller	ered: Cast
Ferguson Enterprises Inc.	First Offer - \$1,307.04	2 / each	\$2,614.08	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: (Ductile Manufacturer: Al	Cast or Ductile Iron Off	ered:
msc waterworks	First Offer - \$1,315.93	2 / each	\$2,631.86	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes: 0 t236019 Manufacturer: m	Cast or Ductile Iron Off	ered:
Corcel Corp.	First Offer - \$1,345.00	2 / each	\$2,690.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Cast or Ductile Iron Offered: Call IRON Manufacturer: US Pipe Valve & Hydrant Division		

432-1115701-20 12" X 12" Tappir	ig Valve					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&B PIPE & SUPPLY, INC.	First Offer -	\$1,934.00	1 / each	\$1,934.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: (Manufacturer: M	Cast or Ductile I ro	n Offere	d: DI
HD Supply Waterworks, Ltd.	First Offer -	\$1,946.00	1 / each	\$1,946.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: (Manufacturer: M	Cast or Ductile I ro	n Offere	d: Cast
Ferguson Enterprises Inc.	First Offer -	\$1,974.00	1 / each	\$1,974.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: (Ductile Manufacturer: Al	Cast or Ductile Iro	n Offere	d:
msc waterworks	First Offer -	\$1,987.74	1 / each	\$1,987.74		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: (t236019 Manufacturer: m	Cast or Ductile Iro	n Offere	d:
Corcel Corp.	First Offer -	\$2,031.00	1 / each	\$2,031.00		Υ
Product Code: Agency Notes:			IRÓN	: Code: Cast or Ductile Iro S Pipe Valve & Hydra		

432-1115701-21 Percentage Discount							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
HD Supply Waterworks, Ltd.	First Offer - 70.00%	1 / percentage	70.00%		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Corcel Corp.	First Offer - 55.00%	1 / percentage	55.00%		Υ		
Product Code:		Supplier Product	Code:				
Agency Notes:		Supplier Notes:					

A&B PIPE & SUPPLY, INC.	First Offer - 37.50%	1 / percentage	37.50%	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
Ferguson Enterprises Inc.	First Offer - 10.00%	1 / percentage	10.00%	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		

Supplier Totals

Supplier Tota			
A&B PIPE &	SUPPLY, INC.	\$103,251.65 (21/21	items)
Bid Contact	ARODDY MOREJON aroddym@abpipe.net Ph 305-694-2004	Address 6500 NW 37TH AVENUE MI AMI, FL 33147	
Supplier Code	0000016		
Agency Notes	s:	Supplier Notes:	
Ferguson Er	nterprises Inc.	\$103,715.63 (21/21	items)
Bid Contact	Jason A Mueller jason.mueller@ferguson.com Ph 954-973-8100	Address 2361 NW 22nd Street Pompano Beach, FL 33069	
Supplier Code	00000137		
Agency Notes	s:	Supplier Notes:	
HD Supply V	Vaterworks, Ltd.	\$104,672.00 (21/21	items)
Bid Contact	Susan Helms susan.helms@hdsupply.com Ph 407-893-9002 Fax 407-893-7376	Address 501 W. Church Street Orlando, FL 32805	
Supplier Code	00023494		
Agency Notes	s:	Supplier Notes:	
Corcel Corp.		\$109,361.00 (21/21	items)
Bid Contact	Ray Corona paula@corcelcorp.com Ph 305-636-1880 Fax 305-636-1897	Address 2461 NW 23rd Street Miami, FL 33142	
Supplier Code	00016631		
Qualifications	DBE MBE		
Agency Notes:		Supplier Notes:	
<u>d</u>	orks greg panasuk lavid.guthart@fortiline.com Ph 772-408-1960 Fax 772-408-1963	\$104,931.46 (20/21 if Address 8920 SW GLADES CUT-OFF ROAD PORT ST LUCIE, FL 34986	
Agency Notes	21	Supplier Notes:	

* *